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Summer Test 1

3 ‘3+"=[ J 0 4| = 3000 + 1000

P i | B

13|5(94 14 \ = 2%622%5

15| 34 + 265 =‘ \ 16 [_—" _ TJ X 7 =3934
- ) [ D

17 49521—35=| 18 gn=1 J
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Summer Test 1 (continued)

1] ‘=ﬁﬂ><9l:l 20| 732 - 481 =
21 5.132x1m=( . 22|4[7328
l

23| 3152 = \—521{:- 0 24| 9000 - 3812 = -
28| - - ‘ 26 ‘ }-2930-3&1 0

5687 R
27\« 7 28 25.5+a.ﬁ=[ J
20| 632 = _‘+9 O 30| 78302

How well did you do?
Colour the numbsers of the
'-'.IUEE-'HDFIS You ﬁﬂ[ carract,

O

Gb‘lﬂmnrlu
| + with cormect ploce value 15 | 77 | 20| 26 | 28
= with Feros 4
Miullighes of bables 0] 1%
Square and cubs numbes 1118
4 or & by W0, 100 g 1000 LR K
Shor x 7|
Shor +, Inchuding r 13 )16 |22]30
Fractions T B |2 |28
[ Wissing numbers 72 K1 0 X B
& Tlw|as] )]s
- 2 6| & |20]|24)25] 2
" 1lslalw]niales I E]
2 314 B J13]0%)|22] 30
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